INABBA

LinearTech

Support Unit
of Ball Screw

L]
(=
=
c
=

www.oskoyiballbearing.com 7N Y- FRAFEPY AL o (A gSiul S pals




Recommended Shaft End Shape
For Support Unit Type BK and FK and EK Fixed Side

= i p=
2 . S—
i i
d
t | |
i 1
=
R -
nit : mm
BK (Type BK) d A B E F (2] S

BK 10 1214115 10 8 36 15 M10X1 16

BK 12 14/15/16 12 10 36 15 M12X1 14

BK 15 18/20 15 12 40 20 M15X1 12

BK 17 20/25 17 158 53 23 M17X1 17

BK 20 25/28 20 17 53 25 M20X1 15

BK 25 32/36 25 20 65 30 M25X1.5 18

BK 30 36/40 a0 25 T2 38 M30X1.5 25

BK 35 45 35 30 81 a5 M35X1.5 28

BK 40 50 40 a5 a3 50 M40X1.5 35

Linit : mim

FK& EK 6 8 ] 4 28 8 MEX0.75
FK 8 EK 8 102 5] 32 9 Max1 10
FK 10 EK 10 121415 10 8 36 15 M10X1 11
FK 12 EK 12 1415716 12 10 36 15 M12X1 11
FK 15 EK 15 18/20 15 12 47 20 M15X1 13
FK 20 EK 20 25/28/30 20 17 G2 25 M20X1 17
FK 25 - 30/32/36 25 20 76 30 M25X1.5 20
FK 30 - 36740 30 25 72 38 M30X1.5 25

www.oskoyiballbearing.com Y- FRANTEY A0 L D gsiul Syl




JX)10.2 Recommended Shaft End Shape

For Support Unit Tvpe FF and EF and BF (Floated Side)

m 1 "
R -
‘J_I ‘1‘“ Type EF
Typa FF Type FF Type BF I
” Type FF | Type EF Type BF d A E
:E FF 0B EF 06 = 8 5 9
::i‘ FF 10 EF 10 BF 10 121415 10
= FF 12 EF 12 BF 12 141516 10 1
FF 15 EF 15 BF 15 18/20 15 13
- - BF 17 20/25 17 16
FF 20 EF 20 | (BF20)Note 25/28/30 20 19 (16)
FF 25 == BF 25 30/32/36 25 20
FF 30 - BF 30 36/40 30 21
o = BF 35 40/45 35 22
= - BF 40 50 40 23
’é Mote:

In this table, dimens:ons in parentheses are thase of
type BF20. These dimensions differ from those of
typer FF20 and EF20. When placing an order,always

used.

B i ) spacify the model number of the Suppaort Unit 1o be

Unit : mm

Type FF | Type EF Type BF B F G

FF 08 EF 06 5.7 6.8 0.8
FF 10 EF 10 BF 10 7.6 7.9 0.9
FF 12 EF 12 BF 12 9.6 9.15 1.15
FF 15 EF 15 BF 15 14.3 10.15 1.15

- - BF 17 16.2 13.15 1.15
FF 20 EF 20 | (BF20)Mote 19 15.35(13.35) 1.35
FF 25 = BF 25 239 16.35 1.35
FF 30 - BF 30 28.6 17.75 175

- - BF 35 33 18.75 1.75

- - BF 40 38 19.95 1.95

www.oskoyiballbearing.com

Y- FPAFYFPY: AL o S eSeul S s




JX)10.3 FK ( Fixed Side )

[ &L

e
PCD

en

@
L
o
o
~1
==

Unil : mm

FK5 5 16.5 6 105 | 185 20 34 26 26 55 as 34 6.5 4
FK B 6 20 7 13 2 22 36 28 28 55 as 3.4 6.5 4
FK B | & 23 9 14 26 28 43 35 a5 7 4 3.4 65 )
FK 10 10 27 10 17 295 a4 52 42 42 7.5 5 45 B Fl
FK 12 12 27 10 17 205 36 54 aq a4 75 5 4.5 8 4
FK 15 l 15 a2 15 17 36 40 63 50 52 10 B 58 95 8
FK 20 20 52 20 20 50 57 g5 70 ) 8 10 6.6 1" 10
FK 25 | 25 57 27 30 80 63 a8 B0 70 13 10 g 15 12
FK30 | 30 g2 ap 92 E1 75 17 | o5 83 1 12 11 17.5 15
ﬁ} 4 FF ( Floated Side )
d:) il throwgh oY coundsr bodrs dbpifg
]
8 3 &
i
M| F
, L

Linit © mam

FF 10 B 12 T 5 28 43 as a5 34 6.5
FF 12 10 15 7 8 34 52 42 a2 45 8
FF 15 15 17 ] ] i} B3 50 52 55 8.5 55
FF 20 20 20 1" a 57 85 70 68 6.6 1" 65
FF 25 25 24 14 10 63 98 80 8 9 14 85
FF 30 - F ) Al s 18 ] 75 17 95 93 1 17.5 1"

www.oskoyiballbearing.com 7N Y- FRAFEPY AL o (A gSiul S pals




o
O
=}
(=]
i
=]

JX)10.5 BK ( Fixed Side )

i-X gl thepugh oY

Al taed g (AR

BK 10 10 25 5 29 5 13 4] 60 | 30 | 30 | 22 34 |32.5] 15 46 | 55| 66 (10.8| 5
BK 12 12 25 5 29 5 13 G &0 43 30 25 35 |325] 18 46 55 | 66 |10.B| 1.5
BK 15 15 27 & a2 G 15 & 0 | 48 | 35 | 28 40 | 38 18 | 64 | 55| 66 | 11 | 65
BK 17 17 | 35 8 44 | 7 18 8 86 | 64 | 43 | 30 | 50 | 55 |28 | 68 | 66| 9 14 | 8.5
BK 20 20 35 a 43 a 19 B8 8B 60 a4 34 52 50 22 | 70O 6.6 o 14 8.5
BK 25 25 | 42 | 12 | 54 8 22 | 10 | 106 ) 80 | 53 | 48 | 64 | FO | 33 l 85 L 11 |17.5] 11
BK 30 30 45 14 61 9 23 11 128 | 89 B4 51 76 78 a3 | 102 11 ' 14 20 13
BK 35 a5 | 50 | 14 g7 |12 |26 | 12 |140| 96| 70 | 62 | B8 | & | 35 | 114 11 | 14 | 20 13
BK 40 40 61 18 76 15 33 14 160 | 110 | BO 60 100 | S0 a7 ! 130 14 18 26 |1T5
JX)10.6 BF ( Floated Side )
A 2% vl thiough @Y coutded kare degplhd
i
7 [
'_l
' O O | > El
(1) i :
— o O

BF 10 B 20
BF 12 10 20
BF 15 15 20
BF 17 17 23
BF 20 20 26
BF 25 25 30
BF 30 ao 3z
BF 35 a5 32
BF 40 40 a7

gzgagse

128
140

883828588

110

E328286R8E8

ZR2ELBRER

32.5
azs

E8a3288 8

b
=

HEBRE

A

3R 3

114
130

5.5
5.5
55
6.6
6.6

1
1

www.oskoyiballbearing.com

Y- FPAFYFPY: AL o S eSeul S s




EHX4.5

L
-

e
pe)
s]
-
=

Unit : mm

28
| 30 :

EK 8 8 23 7 26 4 52 az 26 17 | 25 26 38 6.6 1 | 12
exi0o | 10 | 28 | 8 |205| & ’ 70 | 43 | as | 25.| 36 | 24 | s2 | @ | - -
EK 12 12 | 24 8 |205| & | 70 43 35 25 | a8 24 52 | '@ - -
EK 15 15 | 28 6 | 38 5 | 80 | 49 | 40 | 30 I 41 | 25 | 80 | 1 -~ | =
EK 20 20 42 10 50 10 | 95 58 | 475 | 30 | 86 25 75 | 11 - -
IX)10.8 EF ( Floated Side )

2-3 il though @ Y counime bose depth I o 2-5 ol T

Unit : mm

EF20 | 20 ! 26 95 58 475 30 56 25 75 | 11 2 .5

www.oskoyiballbearing.com 7N Y- FRAFEPY AL o (A gSiul S pals




